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ERS
HESAAY(BRE)
AERIH(ERE) (&)
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
436,417 525,006 88,589
H(8%S) 221,610 220,902 708
H(ERS) 42,811 41,617 1,194
dH(ERS) 42,811 41,617 1,194
o124 dl 42,811 41,617 1,194
01 2= 42,811 41,617 1,194
OAZA22Y 42,811
— 6= 11,4013 «2H «35A| 2t 128 9,577
-2 10,2993 x3H «35A| 2t 128 12,977
— 8= 9,246 4 H «35A1 2t 123 15,534
- 9= 8,357 1P «35A1 2t 123 3,510
—HRMHE= 40,401,480& *3% 1,213
(2ws) 178,799 179,285 A 486
H(ERS) 178,799 179,285 A 486
B2 HH| 131,149 137,281 26,132
AtE 2t el i 53,629 52,177 1,452
ORM2YUL2 g 11,110,0002 *95% 10,555
OI2ARLHS20HA Y|
8,000 «10H 62| «12& 5,760
O A 30,000& 10 300
Og=a| 60,000 485 29,100
O2sxeg sdg & 48 3,322
—NEE2 S¥R 6,400& 123 x12& 922
—Sd= 25,000 83| 128 2,400
O & & N #al 1,500,000 1,500
OSgUALSI EH 2LHl 230,000 *43] 920
O&=J| - Hld dxt=z 181,000& =128 2,172
02 =224l 77,520 85,104 AT,584
02323 % HAl 22,160
—RER3 300,000& =122 3,600
HIIRS 1,000,000& »12& 12,000
—=ER= 200,000 122 2,400
-2+ MEE(RAXEE)
40,000& x12& 480
— oY AIBZ2 30,000& »12& 360
—A0ETV =82 60,000& x12& 720
—RHESs SHes 200,000& »12& 2,400
—LNERLRES 200,000& 200
OA& & Hl S Xl 43,000
—HAANEBHA) RAES 20,000,000& 20,000
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M. HMSAHH(ERS)
el JI= A (ERS) (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— 2HYUSAALH SIES 10,000,000& 10,000
— AN HFE HA 400,000& *23| 800
— SOAHIAAY Sl 297,000 *12 3,564
—SolpiAW 3| AU ALY By
220,000& x12& 2,640
—SESHEEZ)| FAEH 118,000& x12& 1,416
— 20101830 RAES 315,000& 12& 3,780
—dJ|ot™ e B2 800,000& *x13] 800
(@PNE=FaR=1a:] 9,000
—SEXE S8 2,500,000& *3CH 7,500
— &8I X XYl 1,500, 000& *1LH 1,500
OHEHASHI(22) 1,000 x14Al 2+%20H x120L 3,360
202 044l 29,700 29,700 0
02 2 H 0| 29,700 29,700 0
OJI2gd2a# =0 225,000& *11H «12& 29,700
203 &R =&H| 9,560 9,560 0
01 J|22H L R=AH| 6,270 6,270 0
OJ|#2ggd=a| 6,600,000& x95% 6,270
02 BRI R =X H]| 440 440 0
OF Itz 40,000& *11 440
04 2SI L RF=AH| 2,850 2,850 0
OBNSgIRF=&Y| 250, 000& *12& *95% 2,850
405 XHoHFE S HI 8,390 2,744 5,646
01 JHMY =2 ZF SH 8,390 2,744 5,646
Oszlola o Xt ¢ 59,000& *50H4 2,950
O3gloa Hol=2 #¢ 98,000& *30H4 2,940
O0lsA Mo 29 2,500,000& = 1CH 2,500
SRS AMEAEH] 214,807 304, 104 N B89,297
FOIMEX R ALY 165,229 232,096 66,867
FOIXXMEH 2 123,371 122,069 1,302
201 LBt 2t 49,206 48,791 415
01 At 22l ] 22,800 22,800 0
OFUXXHEH 29 HZHI 500,000& x12& 6,000
OFCUXXNFEZ 3o EFHALE
50,000& x28H x12& 16,800
02 352494l 26,406 25,991 415
03322 ¢ MA 17,270
—&Ie3 1,100,000& *12& 13,200
-3 30,000 x12& 360
—QoHY AIEE 200,000 x12& 2,400
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- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
—AOI=STV =4 = 60,000& x12& 720
—HSAESX HiAHABSH =S
250,000 13| 250
— FO0IAXANE SIMEE S 340,000 13| 340
OA & &Hl XYl 9,136
— FOXXAE AlE SAE% 2,000,000& 2,000
~ ZORXHE DORHIAIAY R
429,000 x12& 5,148
—H=SdH &3J17 834 297,000 x4 3| 1,188
— FOIXXAHE ot & A
200, 000 *x2H A *23] 800
301 LBt A= 59,069 62,928 N 3,859
12 JIEtE2 A= 59,069 62,928 AN 3,859
OFOITAME A+
30,000& 12 x93| x12& 38,880
OFXXEHEH 2AH S22 @ 62 2,189
—N=E2 EHZ 6,400 x4 x43| x12& 1,229
-2 20,000 1Y »435| x12& 960
ORYASAK AHl 24
10,000 x6 2«25 x 12 18,000
405 RHoHFE S HI 15,096 10,350 4,746
01 JHMY 2 E F S H 13,096 8,350 4,746
ONMSHE WHed 2 1,200,000 =104 1,200
OM=sHdH 23017 7Y 10,676
—Edc=2(ednal) 4,000,000 =2CH 8,000
—ZsE=E 960,000 =1 CH 960
— HHMAEHX] 940,000 =1CH 940
—SHHAHNAEYX &Aoot 776,000 = 1CH 776
ORoHEHEH HALEHA TV 2L
610,000 «2CH 1,220
02 =AY 2,000 2,000 0
OSSN TN 7 2,000,000& 2,000
s HH| 2,040 69,785 NB7,745
201 et 2,040 2,040 0
01 AP 22| H| 2,040 2,040 0
Ogttf2Y| 2,040
—EHFEg23 1Y 170,000& ~12& 2,040
| Z=MExZ3 X K& 1,642 3,226 N 1,584
301 et A= 1,642 3,226 N 1,584
12 JIEtE2 A= 1,642 3,226 N 1,584
O ZHUAX IS8 SHHEE 2L 1,642
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
— dErM I S & (20L)
5703 «120F 201« 123 1,642
SSAL K& 2,500 2,500 0
201 £B-2dH| 2,500 2,500 0
03 A2 Z Hl 2,500 2,500 0
OUHESS0l HAHSE 500,000& 500
OAZ BAMES L HASE 2
1,000, 000& 1,000
OXHZ2H 2 dsWF A 1,000,000 1,000
ALyl 249 2,556 2,556 0
301 et a3z 2,556 2,556 0
04 A2 LHHAHXA 2,556 2,556 0
Osgdl 244l 2,556
— i E 20,000& x12H 240
— OFAH| 3,500 «12F »42«12& 2,016
— S &4 300,000 300
ES FLo & HA 30,000 30, 160 A 160
201 Let24E] 30,000 30,000 0
03 & Ar2 I 30,000 30,000 0
O81 - 2AZ9 & A XIF 30,000,000 30,000
= KNGA2ZEAN 29 3,120 1,800 1,320
201 Let2d] 3,120 1,800 1,320
01 At 22l 3,120 1,800 1,320
O NAAMNIE2EEAM 22 HA&=E
20,000 x13H » 123 3,120
sdE XA 49,578 72,008 A 22,430
= - BE 22 44,378 45,208 A 830
301 et a = 44,378 45,208 A 830
05 SE -0 -EtEEs2E 41,310 41,310 0
Os&E=+¢ 200,000& x12H x12& 28,800
Os&d&dN= 200,000& x12E *23| 4,800
Os&slo &2 20,0003 12 23| «12& 5,760
Ogta ¢ 25,0003 *x39Y +23| 1,950
12JEEd=S 3,068 3,898 A 830
Os-et&d X228 sgMsE 7 3,068
— LBrM YIS & (20L)
5703 1208 »201 » 122 1,642
— SASMEIIAEIFH(3L)
165% 120 604 <12 1,426
SEAN BExE2 5,200 26,800 A 21,600
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Hu: 825 AABY
Sl SHE N (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 5,200 26,800 A 21,600
01 A& HI 5,200 26,800 A 21,600

SOAXNHE CHHEXE &X 5,200,000& 5,200




